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Choose the cor rect answer .

1.

2.

3.

4.

5.

6.

The set of first element of al ordered pairs of abinary relation is called its

(8) Range (b) Domain (c) Co-domain (d) None of these
If every member of aset A isaso member of set B, then

(& Aissubset of B (b) A issuper set of B (C) B issubset of A (d) None of these
A quantity which does not remain fixed is called a

(a) Variable (b) Constant (c) Parameter (d) Bothband c
If fisafunctionf: Xa 'Y, then Yiscalled
(8) Domain (b) Co-domain (c) Range (d) None of these

If y isafunction of x, theny is called
(8) independent variable (b) Dependent Variable (c) Parameter  (d) Constant
If A and B are non-empty sets, then A x B is

@ {(xy)/ xe AryeB}(b) {(x,y)/xe AvyeB} (C) {(x,y)/xeBarye A (d)

{(x,y)/I xeBvyeA
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8.

9.

10.
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12.

13.

14.

15.

16.

17.

18.

19.

Any subset of A x Biscalled a

(8) binary relation  (b) binary operation (c) function (d) Cartesian Product

x isfunction of y iswritten as

@y=f( (b) x = (y) ©fxy)=0 (dx=y

If afunctionf: Xa Yissuchthat vx;,x, € X,x # x5, < f(x) # f(x,), thenf iscalled

(& Onto (b) (1-1) (©) Into (d) Bothaand b

For afunctionf: Xa Y, if Range=Y thenfiscalled

(8 Onto (b) (1-1) (©) Into (d) Bothband c

Onto function is also known as

(8) Surjective (b) Injective (c) Bijective (d) None of these

If a degree of polynomial function is 2, then function is

(8 Linear (b) Quadratic (c) Cubic (d) None of these

A function of the form P& Q(x) = 0, Where P(x) and Q(x) are polynomialsis called a function.
Q(x)

(8)Exponential (b) Trigonometric  (c) Transcendental  (d) Rational

The function y = loge x iscalled Logarithmic

(8 Common (b) Natural (c) General (d) None of these

The equation of the form x = f(t), y = g(t) wheret is parameter are called

(8 Implicit equation  (b) explicit equation (c) Parametric equation (d)

If f(x) = Sinx + Cosx thenfis function

(8 Odd (b) Even (o) Implicit (d) None of these

Domainof f(x)=2++/x-1,vxeR is

(@) [10) , (0 (1, ) (©) [2, ) (dR

If f(X)=2x+3, g(X)=Xx", theng o f(X) is

(@ X (b) 2x°+3 (©) (2x+3) (d) 2x+3

Lim[f(x)]" =

X—C

(8 Limf(x) (B) Limf(x") = (c) [Lim f ()" (d) n.Lim f (x)
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Lim (2) =

X—>Fo ¥
(@ oo (b) a
If I;Lr?f(x):f(c),thenfis

(© +a (d) 0

(a) Continuous at x=c (b) Differentiable at x=c (c) Piecewise Continuous (d) Discontinuous at
X=C
y =loge x is undefined when

(& x=10 (b)x=0 (cx<0 (d) Bothband c
The Graph of the equation represents x*+y’=a”
(8) aParabola (b) an Ellipse (c) acircle (d) ahyperbola
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The function f (x) :X—ll , iIsundefined at

(@x=0

(b) x =1

©x=-1

Which one of them is not a polynomial function

(@ x*+x+1

For y= Cosx, Range =
@ -1<y<1

B) 1x%+>x+1
2X "5

(b) —-1<y<1

(0 x*+x+1

(C)—oo<y<oo

Which one is Hyperbolic Cosine Function

@ y=§(ex—e‘x> (b) y=§(ex+e‘x>

Lim(1+ .2h)]/h =
(@ ¢ (b) e ©0
Ix-1=1-x ,then
@x>1 (b)x<1 (ox=1
A function of the formf (x, y) = Oiscalled Function
(8 Implicit (b) Explicit (c) Even
If f(x)=|x—3,then Rangef=
(&) [0,0) (b) (-o0,00) (©)[3 )
If f(x) = 2x+1, then f *(x) =

1 1

= T b) =.x-1 -1
@ > (x+1) ()2X (c) x
If g(x):X_lZ ,then gog(x)=

1 1
@ — (b) x* © =

X X
If y=a*,a>0,whenxincreasestheny =
(8) decreases (b) does not change  (c) increases
Lim 0 =
6—0 Tan@
@0 (b) o0 ©1
Lim x-a" =
Xx—>a X—a
(@ na™ (b) a (c)

2

(d) X = o0
(@ X +—
X

(d) y<-1 y>1

© y=—§(ex+e‘x> (d y=—§(ex—e‘x>

(d1

(d) x=0

(d) Parametric

(d) [-3,3]

() %(x—l)

(d x*
(d) approaches to zero
(d) None of the These

(d) na
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Iff: Xa Y then f ! exist, iff fis

(8 Injective (b) Surjective (c) Bijective (d) Red
If f(x)=x>-2x"+4x-1,thenf(-2) =
(& 25 (b) -25 (0-1 (d)o
If f(X)=+/x*-9 ,then Domainof f =
(@ (-0,-3)u (30)  (b) (-o0,-3] U [3,0) (€] (-o0,0) (d) [-3.3]
. 9n70
Lim =
6->0 0 E——
@0 (by1/7 (o7 (d1
The parametric equations x = at?, and y = 2at represents the equation of
(8 Circle (b) Ellipse (c) Hyperbola (d) Parabola
2
XY 4 isan example of an Function
Xy
a) Implicit (b) Explicit (c) Even (d) Parametric
Domain of TanxisDom= {x: XxeR A ,heZ}
@ x=(2n+1)g (b) x¢”—2" (©) x¢(2n+1)g (d) x#(2n+n
If f(x)=+/x+2, thenDomainof f*is
(@ (0,0) (b) [2, ) (€) (-00,0) (d) [0, )
If f(x)=+/x+2, thenRangeof f*is
(@) [-2, ) (b) (-2, ) ©[-2,2] (d) (o0, )
Coth* -1 =
(a) Cosech® (b) Sinh?x (c) Tanh® (d) None of these
Lim (%) = and  Lim (&) =
(@ wand0 (b) 0and (¢) o and - oo (dOandO
The term function was introduced by a German mathematician whose name was
(8) Cantor (b) Leibnez (o) Euler (d) Raymond
The parametric equation X =r cosf,y =rsnf represent a
(8) aParabola (b) an Ellipse (c) acircle (d) ahyperbola
If f(-x)=—-f(X)thenfiscalled (a) even (b)odd (o) implicit  (d) explicit
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